

ROMANIAN MATHEMATICAL MAGAZINE

Prove that:

$$\int_0^{\infty} \ln \left(\frac{x^2 + 2026^2}{x^2 + 2003^2} \right) dx = 23\pi$$

Proposed by Cosghun Memmedov-Azerbaijan

Solution by Adgozel Adgozalov-Azerbaijan

$$I(a, b) = \int_0^{\infty} \ln \left(\frac{x^2 + a^2}{x^2 + b^2} \right) dx$$

$$I(b, b) = \int_0^{\infty} \ln \left(\frac{x^2 + b^2}{x^2 + b^2} \right) dx = \int_0^{\infty} \ln(1) dx = 0$$

$$\frac{dI}{da} = \int_0^{\infty} \frac{d}{da} (\ln(x^2 + a^2) - \ln(x^2 + b^2)) dx$$

$$\frac{dI}{da} = \int_0^{\infty} \frac{2a}{x^2 + a^2} dx$$

$$\frac{dI}{da} = 2a \cdot \left[\frac{1}{a} \arctan \left(\frac{x}{a} \right) \right]_0^{\infty}$$

$$\frac{dI}{da} = 2 \left(\lim_{x \rightarrow \infty} \arctan \left(\frac{x}{a} \right) - \arctan(0) \right)$$

$$\frac{dI}{da} = 2 \left(\frac{\pi}{2} - 0 \right) = \pi$$

$$I(a, b) = \int \pi da = \pi a + C(b)$$

$$I(b, b) = \pi b + C(b) = 0 \implies C(b) = -\pi b$$

$$I(a, b) = \pi(a - b)$$

$$a = 2026, \quad b = 2003$$

$$\int_0^{\infty} \ln \left(\frac{x^2 + 2026^2}{x^2 + 2003^2} \right) dx = \pi(2026 - 2003) = 23\pi$$